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SECOND YEAR HIGHER SECONDARY MODEL EXAMINATION,

MARCH 2022
Part — 111 Time : 2 Hours
COMPUTER APPLICATION  Cool-off time : 15 Minutes
(COMMERCE)

Maximum : 60 Scores
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General Instructions to Candidates :

® There is a “‘Cool-off time” of 15 minutes in addition to the writing time.
Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.
Read the instructions carefully.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1
A. Answer any 5 questions from 1 to 9. Each carries 1 score, (5x1=5)

e e e T ——— B}

‘v

(2

13,

is an example of exit controlled loop.

What is the size of array in the following C++ declaration statement ?
int num[10];

What will be the output of the following C++ statement ?
cout<<strlen(“Welcome”);

Write the keyword used to declare a variable in JavaScript.
Give one example for FTP client software.
The person who is responsible for controlling Database is

Which of the following is not a DBMS package ?

(i) ORACLE
(i) SQL Server
(i) MySQL
(iv) HTML

Write an example for ERP package.

is a technology used to send multimedia data using mobile phones.

Answer all questions from 10 to 13. Each carries 1 score.
is a library function that helps us to terminate a C++ program.

Write the full form of HTTP.
What is a nested list ?
In DBMS, storing of same data in multiple locations is called

PART - 11
Answer any 2 questions from 14 to 17. Each carries 2 scores.
What is array traversal ? Give one example.

Write down the names of any two web hosting methods.
What is meant by constraints ? Give one example.

Explain any two benefits of ERP.
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I m@@d 9 awo aanaysmglod Bommlele 5 aggponin’ gamoene)mm.
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@OO® HAISITINHAS C++ awlgaoaum eINROAFo3 AREOW)OS size a6 ?
int num([10];

@Y alomam C++ equadanilang amgallg agamosm'?
cout<<strlen(“Welcome™);
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@Y OB MW@ DBMS a10c006 apg0om@ aga ?
(i) ORACLE

(1)  SQL Server

(1)  MySQL

(iv) HTML
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Answer any 2 questions from 18 to 20. Each carries 2 scores. (2x2=4)

Give names of two parameter passing techniques in C-++.
What is Content Managements System (CMS) ? Write one example.
Using example, explain the use of ORDER BY Clause of SELECT command.

PART - 111

Answer any 3 questions from 21 to 24, Each carries 3 scores. 3x3=

Write the names of any three fundamental data types in C-++,
Compare static and dynamic web pages.

Write the data types of following values in JavaScript ?
(1)  true

(n) =300

(1i1)  *“*School™

Name any three fundamental operations in Relational Algebra. Give their symbols also.

9)

Answer any 2 questions from 25 to 27. Each carries 3 scores. 2x3=6)

Compare break and continue statements in C++.

Read the following statements :
char name[20];
cin>>name;
cout<<name;
(i)  What will be the output if you input the string “Sachin Tendulkar™ ?

(ii)  Justify your answer.

Write port numbers for the following services :
(i) HTTP

(i)) SMTP

(iii) DNS

PART -1V

Answer any 3 questions from 28 to 31. Each carries 4 scores. 3x4=

What is token in C++ ? Name any three tokens.
List any four built in functions in C++.
Which are essential tags of HTML ?

(a) is an attribute of <SCRIPT> tag. .
(b)  Write the built in functions in JavaScript for the following :
(i) to display a message on screen.

(ii) to convert uppercase to lowercase.

(iii) to find the character at a particular position.
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